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2. Consider the matrices 

A=൥
4 6 −1
3 0 2
1 −2 5

൩,B=൥
2 4
0 1

−1 2
൩and 

C=൥
3
1
2

൩ . 𝑂𝑢𝑡 𝑜𝑓 𝑡ℎ𝑒 𝑔𝑖𝑣𝑒𝑛 𝑚𝑎𝑡𝑟𝑖𝑥 𝑝𝑟𝑜𝑑𝑢𝑐𝑡𝑠 

i) (AB)TC  iii) CTAB 
ii) CTC(AB)T  iv) ATABBTC 
a) Exactly one is defined 
b) Exactly two is defined 
c) Exactly Three is defined 
d) All four are defined 

3. If ൥
1 2 𝑎
0 1 4
0 0 1

൩

௡

= ൥
1 18 2007
0 1 36
0 0 1

൩ then 

the value of (n+a) is 
a) 100  c)   150 
b) 200  d)   250  

4. Let three matrices be A= ቂ2 1
4 1

ቃ; B =ቂ
3 4
2 3

ቃ    

and C=ቂ
3 −4

−2 3
ቃ . 𝑇ℎ𝑒𝑛 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑢𝑚 

𝑡𝑟(𝐴)+trቀ
஺஻஼

ଶ
ቁ + 𝑡𝑟 ቀ

஺(஻஼)మ

ସ
ቁ + 𝑡𝑟 ቀ

஺(஻஼)య

଼
ቁ +

⋯ + ∞ = 
a) 6   c)   9 
b) 12   d) none of these  

5. For  A = ቂ 1 𝑡𝑎𝑛𝑥
−𝑡𝑎𝑛𝑥 1

ቃ , 𝑙𝑒𝑡 𝑢𝑠 𝑑𝑒𝑓𝑖𝑛𝑒 

a function f(x) =det. (ATA-1) then which 
of the following cannot be the value of 

𝑓 ൬𝑓 ቀ𝑓൫𝑓 … … … 𝑓(𝑥)൯ቁ൰
ᇣᇧᇧᇧᇧᇧᇧᇧᇤᇧᇧᇧᇧᇧᇧᇧᇥ

 if n≥ 2? 

     n times 

a)  𝑓௡(𝑥)  c)   1 
b) 𝑓௡ିଵ(𝑥)  nf(𝑥) 
 

6. If A1=[a1],A2=ቂ
𝑎ଶ 𝑎ଷ

𝑎ସ 𝑎ହ
ቃ, A3=൥

𝑎଺ 𝑎଻ 𝑎଼

𝑎ଽ 𝑎ଵ଴ 𝑎ଵଵ

𝑎ଵଶ 𝑎ଵଷ 𝑎ଵସ

൩…, 

An =[…]and so on, where ar =[log2r] 
(where [.] denotes the greatest integer 
function), then Tr(A10) is equal to 
 (Tr stands for trace of the matrix) 
a) 800  c) 80 
b) 792  d)160 

7. Let P=൥
1 0 0
4 1 0

16 4 1
൩ and I be the identity 

matrix of order 3. If Q=[qij] is a matrix 

such that P50-Q=I, then 
୯ଷଵା୯ଷଶ

௤మభ
 

Equals 
a) 52   c)   103 
b) 201  d)   205 

8. If Ar = ቀ 𝑟 𝑟 − 1
𝑟 − 1 𝑟

ቁ where r is a 

natural number then 
|A1|+|A2|+|A3|+….+|A2006|must be equal to  
a) 2006  c)  (2006)2 
b) (2006)3  d)  2007 

9. If A = [a ij] ସ×ସsuch that that aij 

=൜
2, 𝑤ℎ𝑒𝑛 𝑖 = 𝑗
0, 𝑤ℎ𝑒𝑛 𝑖 ≠ 𝑗

 , 

then ቄ
ୢୣ୲ (௔ௗ௝(௔ௗ௝ ஺))

଻
ቅ is (where {.} represent 

fractional part function) 

a) 1/7   c)  2/7 
b) 3/7   d) none of these 

10. The number of solutions of the  matrix 

equation 𝑋ଶ = ቂ
1 1
2 3

ቃ  𝑖𝑠  

a) more than 2  c) 2 
b) 0   d)1  

 
 
 


